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A. Answer the following items by choosing the best choice (a, b, c, or d)

1. Which of the following can be considered as the overall structure of an essay?
a. Introduction, Supporting information, Main development
b. Information, Main development, Alternative proposals

¢. Introduction, Development, Conclusion

d. Presentation, Analysis, Discussion
2. Which of the following connectives is used when an alternative proposal is used?
a. and b. or c. but d. for
3. The time available for discussion was very limited. ............ , it was still possible to produce
some interesting arguments.
a. Therefore b. However b. As aresult d. In other words z
4. Many students find it difficult to read newspapers in English; ................ not many read
one regularly. ;
a. in spite of that b. in other words ¢. accordingly d. nevertheless
5. Which of the following tenses is often used when we report a particular procedure and we are

concerned with only one particular occasion in the past?

a. present simple active b. past simple active
C. present passive d. past passive

6. Thestudent.................... I share a room is very studious.
a. who b. that c. with which d. with whom

7. Great Britain is an island that is surrounded by ................ Atlantic Ocean and.............
North Sea.
a.the/......... b......... / the c. the / the do....o [,

8. In the fifteenth and sixteenth centuries, some universities .............. founded in Scotland.
a. are b. were c. have been d. had been
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9, Which of the following mistakes can be seen in the following definition?

10.

12.

14,

15.

" An ammeter is used to measure electric current, "

a. An example is given rather than a definition.

b. The word to be defined is used in the definition.
c. The general class or the particular characteristics may be omitted from the definition.
d. A reduced relative clause is omitted from the definition to make it more formal.
“Apes utter different cries, such as expressions of anger, fear and pleasure” This is an

example of ...

a. narration b. definition c. classification d. exemplification

. When we divide something into categories, we are using .................. .

a. definition b. classification c. interpretation d. qualification

What is frequently needed when studying tables and other statistical information?

a. comparison and contrast b. cause and effect
c. generalization d. certainty

Nearly ..o time was spent in watching television ............. in speaking English.
a. most / than b. less / as ¢. as many / than d. as much / as

How can the generalizations be made more precise?
a. By quantifying them b. By qualifying them
c. By contrasting them d. By classifying them

Which of the following items indicates Strong Negative Evidence?

a. It is widely accepted that the chance of being unemployed is possible in the construction
industry.

b. It has been suggested that the chance of being unemployed is possible in the construction
industry.

c. It is very doubtful if the chance of being unemployed is possible in the construction
industry.

d. It 1s generally agreed that the chance of being unemployed is possible in the construction

industry.
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16. Which of the following should be considered for a good introduction?

a. It should not be too long.

b. It should not introduce the subject.

¢. It should not start with a definition or some historical background.

d. Tt should not indicate the answer by giving the content in sequence. i

17. When do we consider a conclusion as a "non-sequitur"?
a. When the conclusion involves making a summary of the main points already made. 1
b. When the conclusion does not follow logically from what has been written before.

¢. When the conclusion is not presenting a balanced view and looks for advantages and

disadvantages.

d. When the conclusion involves presenting one's own opinion and interpreting the

information,

18. Which of the following shows the correct framework for a research report?
a. Introduction, Preliminaries, Main body, Extras, Conclusion
b. Introduction, Main body, Preliminaries, Extras, Conclusion
c. Preliminaries, Introduction, Main body, Conclusion, Extras
d. Preliminaries, Extras, Introduction, Main body, Conclusion

19. In which part of a research report, a brief discussion of the nature of the research and the

reasons for undertaking it are given?
a. The abstract

¢. Review of the literature.

20. Which of the following underlined words or phrases has a grammatical error?

"“The table is showing that most of these accidents occur to young children.
d

a b

a. 1s showing b. most

v

b. The results

d. Statement of the problem

c. these

21. Which of the following is grammatically Wrong?

a. The cost of living index rose by 10% last year.
b. The sun usually rises at 5 a.m. in the summer.

c. Prices continue to raise.
d. He raised a new point.

d. occur
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23.
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26.

27.

28.

Which of the following sentences is Formal?

a. We'll finish the job next year.

b. The project will be completed next year.

c. 1 showed that his arguments did not hold water.

d. I wonder why he put up with those bad conditions.
In which of the following words the letter 'b' is silent?
a. tomb b. mob c. robe d. rub

Which of the following sentences is Wrong according to the punctuation rules?
a. It is years since I read Anna Karenina, which is my favorite novel.

b. I have some good news for you: John's father and his sister have arrived.

c. They tried, in spite of my advice; to climb the mountain.

d. I shall need a book, some paper, a pencil, and a ruler.

. Which of the following is Wrong according to the punctuation rules?

a. He said, "Why did you do that"?

b. William Smith (1910-1969) lived first in Manchester.

c. He received a prize-and a certificate as well.

d. If you do not understand, tell me.

Which of the following sentences is grammatically Wrong?
a. His research is progressing well.

b. The news was very good.

¢. The police is trying to control the traffic.

d. The number of students is more than last year.

Which of the following is Wrong according to the rules of Capitalization?

a. Professor Williams b. the Rhine ¢. Animal farm d. a Dutchman

Which of the following is grammatically Wrong?

a. The government have taken an important decision.

b. The class has a test next Monday.
¢. The series of experiments that he conducted was very successful.

d. Several species of butterfly is in danger of dying out.

(//;_/niu u/;/s s ) A u/ /)/ 2y
dfhu(.ﬂ/lil u(w%,o’uwwh,«/

@ ﬁg‘a_

Gl

s 505 1y 13S0 03038 « padipasly Sigliso "y

h 4
a3 s oFAP — SPFAAP P il 515 g Jluls.olSes

=




AP Jo 34 plus ol i fs

H
i

yuﬂﬁ - Auc A ujm. iMbe Ssns i gacdliie "U“JJfb
@ A wﬁ d.ﬂ A M"‘rﬁﬁ.“}w‘j&j Sl LG Olual 5 caa s '0‘?].):' ! ;G
Pk Kok WA WY

29. Which of the following is grammatically Wrong?

a. This book is the same price as that one.

b. Peter's essay was much more better than John's.
¢. The student didn't do as much homework as his teacher had hoped. |

d. Some economists find that the least interesting part of their subject is statistics.

3
<

Which of the following is grammatically Wrong?
a. The bigger the problem, the most interesting he found it. ,
b. This problem is less difficult than the previous one. ‘

¢. Ann is as clever as Tom.

d. John's essay was longer than Peter's.

B. Choose ONLY FIVE of the following items and write a paragraph of 50-75 words for each.

1. Write a brief account of your country.

( Location, size and physical background, climate, population, language, and religion)

Write a paragraph on ** writing systems” based on the following information: |

v

Writing Systems

Writing = method of human intercommunication by means of
conventional visible marks.

3 main writing systems:

1 word-syllabic (one sign = one word) e.g. Chinese

2 syllabic (one sign = one syllable) e.g. Amharic, japanese

3 alphabetic (one sign = one sound) e.g. Greek, Latin,
Arabic.
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3. Write a brief description of the education system and its classification in your country.

4. Compare and contrast your country with one of the developed countries.

S.  Describe poverty in your country — its main causes and effects.

6. Draw a diagram of family spending for your family and briefly comment on the most

significant items.
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